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	1
	Which of the following is one of the four basic financial statements?
	

	A)
	Balance Sheet
	+

	B)
	Audit Report
	

	C)
	Directors’ Statement
	

	D)
	Net Income
	

	E)
	 All of the above
	

	2
	Which of the following is true regarding the income statement?
	

	A)
	The income statement is often called the statement of operations.
	+

	B)
	 The statement of operations reports revenues, expenses, and liabilities.
	

	C)
	The statement of operations only reports revenue for which cash was received at the point of sale.
	

	D)
	The statements of operations reports the financial position of a business at a particular point in time.
	

	E)
	All of the above
	

	3
	Which of the following regarding retained earnings is true?
	

	A)
	Retained earnings is decreased by net income.
	

	B)
	 Retained earnings is not a component of stockholders’ equity on the balance sheet.
	

	C)
	Retained earnings is an asset on the balance sheet.
	

	D)
	Retained earnings represents earnings not distributed to stockholders in the form of dividends.
	+

	E)
	All of the above
	

	4
	 Which of the following are the items required to be shown in the heading of a financial statement?

1. The financial statement preparer’s name.

2. The title of the financial statement.

3. The financial reporting date or period.

4. The name of the business entity.

5. The country of business


	

	A)
	1, 2, 4
	

	B)
	2, 3, 5
	

	C)
	2, 3, 4
	+

	D)
	1, 2, 4
	

	E)
	All of the above
	

	5
	Which of the following are not the items required to be shown in the heading of a financial statement?

1. The financial statement preparer’s name.

2. The title of the financial statement.

3. The financial reporting date or period.

4. The name of the business entity.

5. Standards applied in preparation of the financial statements

6. Country of the company’s incorporation.


	

	A)
	1, 5, 6
	+

	B)
	2, 3, 5
	

	C)
	1, 3, 4
	

	D)
	All above
	

	E)
	  None
	

	6
	Which of the following statements regarding the statement of cash flows is true?
	

	A)
	The statement of cash flows separates cash inflows and outflows into two major categories: investing, and financing.
	

	B)
	 The ending cash balance shown on the statement of cash flows must not agree with the amount shown on the balance sheet at the end of the same period.
	

	C)
	The total increase or decrease in cash shown on the statement of cash flows must agree with the “bottom line” (net income or net loss) reported on the income statement.
	

	D)
	The statement of cash flows covers a period of time.
	+

	E)
	All of the above
	

	7
	Which of the following regarding GAAP is false?

1. GAAP is an abbreviation for generally applied accounting principles.

2. Changes in GAAP always affect the amount of income reported by a company.

3. GAAP is the abbreviation for generally accepted accounting principles.

4. Changes to GAAP must be approved by the Senate Finance Committee.
	

	A)
	2, 3
	

	B)
	1, 2, 4
	+

	C)
	2, 3, 4
	

	D)
	2, 4
	

	E)
	All of the above
	

	8
	Which of the following is not related to the major organizational forms for commercial business?
	

	A)
	Partnership
	

	B)
	Government
	+

	C)
	Sole Proprietorship
	

	D)
	Corporation
	

	E)
	All of the above
	

	9
	Which of the following is not one of the three main types of business activities on the statement of cash flow?
	

	A)
	Operating
	

	B)
	Production
	+

	C)
	Financing
	

	D)
	Investing
	

	E)
	All of the above
	

	10
	Which one of the following is the main aim of accounting?
	

	A)
	To maintain ledger accounts for every asset and liability
	

	B)
	To provide financial information to users of such information
	+

	C)
	To produce a trial balance
	

	D)
	To record every financial transaction individually 
	

	E)
	All of the above
	

	11
	Which of the following is an asset?
	

	A)
	Payable to employees
	

	B)
	Receivables from customers
	+

	C)
	to pay for assets will be delivered in future
	

	D)
	Contributed capital
	

	E)
	All of the above
	

	12
	Which of the following statements describe transactions that would be recorded in the accounting system?
	

	A)
	An exchange of an asset for a promise to pay.
	+

	B)
	An exchange of a promise for another promise.
	

	C)
	Both of the above.
	

	D)
	None of the above.
	

	E)
	There is no wright answer
	

	13
	Total assets on a balance sheet prepared on any date must agree with which of the following?
	

	A)
	The sum of total liabilities and net income as shown on the income statement.
	

	B)
	The sum of total liabilities and contributed capital.
	

	C)
	The sum of total liabilities and retained earnings.
	

	D)
	The sum of total liabilities and contributed capital and retained earnings.
	+

	E)
	All of the above
	

	14
	The duality of effects can best be described as follows:
	

	A)
	When a transaction is recorded in the accounting system, at least two effects on the basic accounting equation will result.
	+

	B)
	When an exchange takes place between two parties, both parties must record the transaction.
	

	C)
	When a transaction is recorded, both the balance sheet and the income statement must be impacted.
	

	D)
	When a transaction is recorded, one account will always increase and one account will always decrease.
	

	E)
	All of the above
	

	15
	A company was recently formed with $75,000 cash contributed to the company by stockholders. The company then borrowed $23,000 from a bank and bought $10,000 of supplies on account. The company also purchased $50,000 of equipment by paying $20,000 in cash and issuing a note for the remainder. What is the amount of cash to be reported on the balance sheet?
	

	A)
	$92,000
	

	B)
	$68,000
	

	C)
	$78,000
	+

	D)
	$32,000
	

	E)
	none
	

	16
	Which of the following statements are true regarding debits and credits?
	

	A)
	In any given transaction, the total dollar amount of the debits and the total dollar amount of the credits must be equal.
	

	B)
	Debits decrease certain accounts and credits decrease certain accounts.
	

	C)
	Liabilities and stockholders’ equity accounts usually end in credit balances, while assets usually end in debit balances.
	

	D)
	All of the above.
	+

	E)
	 None
	

	17
	If a publicly traded company is trying to maximize its perceived value to decision makers external to the corporation, the company is most likely to report too small a value for which of the following on its balance sheet?
	

	A)
	 Assets
	

	B)
	Liabilities
	+

	C)
	Retained earnings
	

	D)
	Contributed capital
	

	E)
	All of the above.
	

	18
	Which of the following is not a liability
	

	A)
	Accounts Payable
	

	B)
	Accounts Receivable
	+

	C)
	Salaries Payable
	

	D)
	Notes Payable
	

	E)
	None
	

	19
	The financial statement or statements that pertain to a stated period of time is (are) the:
	

	A)
	Income statement and journals
	

	B)
	Journals and balance sheet
	

	C)
	Income statement
	+

	D)
	Balance sheet and income statement
	

	E)
	All answer incorrect 
	

	20
	If the liabilities of a business increased by $75,000 during a period of time and the equity in the business decreased$ 30,000 during the same period, the assets of the business must have: 
	

	A)
	 Decreased $105,000. 
	

	B)
	Decreased $45,000. 
	

	C)
	Increased $30,000. 
	

	D)
	Increased $45,000. 
	+

	E)
	None
	

	21
	A company paid off $30,000 of its accounts payable in cash. What would be the effects of this transaction on the accounting equation? 
	

	A)
	 Assets, $30,000 increase; liabilities, no effect; equity, $30,000 increase. 
	

	B)
	 Assets, $30,000 decrease; liabilities, $30,000 decrease; equity, no effect. 
	+

	C)
	Assets, $30,000 decrease; liabilities, $30,000 increase; equity, no effect. 
	

	D)
	 Assets, no effect; liabilities, $30,000 decrease; equity, $30,000 increase.
	

	E)
	None
	

	22.
	According to generally accepted accounting principles, a company's balance sheet should show the company's assets at the cash equivalent value of what was given up. This is known as the: 
	

	A)
	Cost Principle
	+

	B)
	Monetary Unit Principle
	

	C)
	Business Entity Principle
	

	D)
	None of the above
	

	E)
	All of the above
	

	23
	A company collected $42,000 cash on its accounts receivable. The effects of this transaction as reflected in the  accounting equation are: 
	

	A)
	Total assets decrease and equity increases. 
	

	B)
	Both total assets and total liabilities decrease. 
	

	C)
	Total assets, total liabilities, and equity are unchanged. 
	+

	D)
	Both total assets and equity are unchanged and liabilities increase.
	

	E)
	All of the above
	

	24
	How would the accounting equation of a company be affected by the billing of a client for $10,000 of consulting  work completed? 
	

	A)
	+$10,000 accounts receivable, -$10,000 accounts payable. 
	

	B)
	+$10,000 accounts receivable, +$10,000 accounts payable. 
	

	C)
	+$10,000 accounts receivable, +$10,000 cash. 
	

	D)
	+$10,000 accounts receivable, +$10,000 revenue. 
	+

	E)
	None
	

	25
	On September 30, the Cash account of Value Company has a balance of $5,000. During September, the  account was debited for a total of $12,200 and credited for a total of $11,500. What must have been the balance in the Cash account on September 1? 
	

	A)
	A $0 balance. 
	

	B)
	A $4,300 debit balance. 
	+

	C)
	A $4,300 credit balance. 
	

	D)
	A $5,700 debit balance. 
	

	E)
	None
	

	26
	Zed Bennett opened an art gallery and as a dealer and completed these transactions:

1. Started the gallery, Artery, by investing $40,000 cash and equipment valued at $18,000 in exchange for common 

    stock.

2. Purchased $70 of office supplies for cash.

3. Paid $1,200 cash for the receptionist's salary.

4. Sold a painting for an artist and collected a $4,500 cash commission on the sale.

5. Completed an art appraisal and billed the client $200.

What was the balance of the cash account after these transactions were posted? 


	

	A)
	$12,230 
	

	B)
	$12,430 
	

	C)
	$43,230.
	+

	D)
	$43,430
	

	E)
	None
	

	27
	An asset created by prepayment of an expense is: 
	

	A)
	Recorded as a debit to a prepaid expense account. 
	+

	B)
	Recorded as a debit to an unearned revenue account. 
	

	C)
	Recorded as a credit to an unearned revenue account. 
	

	D)
	Recorded as a credit to a prepaid expense account. 
	

	E)
	All of the above
	

	28
	A company purchased a new car for $10,000 by trading in an old car which had a recorded net cost and value of $2,000. They also paid cash of $3,000, and signed a note for the remaining balance. The journal entry to record this transaction will NOT include:
	

	A)
	Debit Equipment $10,000
	

	B)
	Credit Equipment $2,000
	

	C)
	Credit Cash $3,000
	

	D)
	Debit Accounts Payable $5,000
	+

	E)
	None
	

	29
	Which of the following equations properly represents a derivation of the fundamental accounting equation?
	

	A)
	Assets + Liabilities = Owner's equity.
	

	B)
	Assets = Owner's equity.
	

	C)
	Cash = Assets.
	

	D)
	Assets - Liabilities = Owner's equity.
	+

	E)
	None
	

	30
	Which of the following transactions would have no impact on stockholders' equity?
	

	A)
	Purchase of land from the proceeds of a bank loan.
	+

	B)
	Dividends to stockholders.
	

	C)
	Net loss.
	

	D)
	Investments of cash by stockholders.
	

	E)
	All of the above
	

	31
	Which of the following would not be included on a balance sheet?
	

	A)
	Accounts receivable.
	

	B)
	Accounts payable.
	

	C)
	Sales.
	+

	D)
	Cash.
	

	E)
	 All of the above
	

	32
	Gerald had beginning total stockholders' equity of $160,000. During the year, total assets increased by $240,000   and total liabilities increased by $120,000. Gerald's net income was $180,000. No additional investments were made; however, dividends did occur during the year. How much were the dividends?
	

	A)
	$20,000.
	

	B)
	$60,000.
	+

	C)
	$140,000.
	

	D)
	$220,000.
	

	E)
	None
	

	33.
	Which of the following is an advantage of keeping a subsidiary ledger for accounts receivable? 
	

	A)
	The business keeps track of how much each individual debtor owes at all times. 
	

	B)
	The general ledger contains all the details of individual customers’ accounts. 
	+

	C)
	The business can use cycle billing to spread the monthly flow of work. 
	

	D)
	Customers are most likely to pay accounts on time.
	

	E)
	All of the above
	

	34
	Find out the value of assets if: Liabilities=$5000 and Equity=$1000
	

	A)
	$6,000
	+

	B)
	$4,000
	

	C)
	 $7,000
	

	D)
	$3,000
	

	E)
	None
	

	35
	If the business's owner withdraws cash for his/her personal use what will be the effect on capital? 
	

	A)
	Increase in capital
	

	B)
	Remain the same
	

	C)
	Decrease in capital
	+

	D)
	No effect on Capital
	

	E)
	All of the above
	

	36
	Which of the following is correct?
	

	A)
	Stockholders’ Equity + Assets = Liabilities
	

	B)
	 Stockholders’ Equity = Assets - Liabilities
	+

	C)
	Stockholders’ Equity = Assets + Liabilities
	

	D)
	Stockholders’ Equity = Liabilities – Assets
	

	E)
	None 
	

	37
	The financial statement or statements that pertain to a stated period of time is (are) the:
	

	A)
	Income statement and journals
	

	B)
	Journals and balance sheet
	

	C)
	Income statement
	+

	D)
	Balance sheet and income statement
	

	E)
	All of the above 
	

	38
	Accrual accounting requires
	

	A)
	Revenues to be recorded when received
	

	B)
	Revenues to be recorded when earned
	+

	C)
	Expenses to be recorded when paid
	

	D)
	Revenues and expenses to be recorded as cash is paid and received
	

	E)
	All of the above
	

	39
	The company will earn net income if
	

	A)
	Revenues = expenses
	

	B)
	Revenues + gains = expenses – losses
	

	C)
	Revenues + gains > expenses
	+

	D)
	Revenues + gains > expenses + losses
	

	E)
	None
	

	40
	A company has a land costing $ 10,000, equipment costing $ 5,000, cash of $ 700 and a bank loan $ 7,850. What is the stockholders’ equity?
	

	A)
	8,850
	

	B)
	15,700
	

	C)
	7,750
	

	D)
	7,850
	+

	E)
	None
	

	41
	If a company has stockholders’ equity of $ 500,000
	

	A)
	Assets minus liability equal $ 500,000
	+

	B)
	Total assets must equal $ 500,000
	

	C)
	Net income for the past year was $ 500,000
	

	D)
	A total of $ 500,000 was invested by the owner
	

	E)
	None
	

	42
	XYZ company paid June wages of $ 5,800 in cash on June 27. Journal entry:
	

	A)
	dr Wages Expense  5,800

cr Wages Payable 5,800


	

	B)
	dr Wages Expense 5,800

cr Cash 5,800
	+

	C)
	dr Cash 5,800

cr Wages Expense 5,800
	

	D)
	dr Accounts Payable 5,800

cr Cash 5,800
	

	E)
	None
	

	43
	Prepaid Expenses is…
	

	A)
	Asset
	+

	B)
	Liability
	

	C)
	Stockholders’ Equity
	

	D)
	None of them
	

	E)
	All of the above
	

	44
	ABC Company paid in advance $ 3, 600 for one year of prepaid insurance, which started on April 1. The adjusting entry on fiscal year ending December 31 of that year is:
	

	A)
	dr Insurance Expenses; cr Prepaid Insurance, $ 3, 600
	

	B)
	dr Insurance Expenses; cr Prepaid Insurance, $ 900
	

	C)
	dr Prepaid Insurance; cr Insurance Expenses, $ 3, 600
	

	D)
	dr Insurance Expenses; cr Prepaid Insurance, $ 2, 700
	+

	E)
	None 
	

	45
	In March XYZ company collected $15,000 from customers for lessons given in February. What is the transaction to be recorded?
	

	A)
	Dr. Cash $15,000 Cr. Accounts Receivable $15,000
	+

	B)
	Dr. Cash $15,000 Cr. Accounts Payable $15,000
	

	C)
	Dr. Cash $15,000 Cr. Unearned Revenue $15,000
	

	D)
	Dr. Unearned Revenue $15,000 Cr. Cash $15,000
	

	E)
	None
	

	46
	The following  transaction occurred during the year:

Made sales of $ 51, 000

Sold goods with cost of $ 28, 000

Paid $ 3, 000 in wages to employees

Other expenses $ 5, 000

Received customer payment of $ 2, 000 to deliver item next year

Net income for the year is equal:


	

	A)
	$ 20, 000
	

	B)
	$ 23, 000
	

	C)
	$ 15, 000
	+

	D)
	$ 17, 000
	

	E)
	None
	

	47
	In July Bill paid $2,000 for the June electricity bill and received the July bill for $2,500, which will be paid in August. What amount of electricity expenses are to be recognized for July month?
	

	A)
	$ 2,000
	

	B)
	$ 2,500
	+

	C)
	$ 500
	

	D)
	$ 4,500
	

	E)
	None
	

	48
	A company purchased $ 5, 000 of equipment on credit. Then:
Assets                      Liability                      Stockholders’ Equity    
	

	A)
	0                             5000                                        0
	

	B)
	 5000                         5000                                      5000
	

	C)
	5000                         5000                                         0
	+

	D)
	 0                             5000                                      5000
	

	E)
	0                             0                                                 0
	

	49
	Ben has decided to set up in business. He begins by putting $ 3, 500 into a bank account. He obtains a loan of $ 5, 000 from bank to purchase an equipment for the business. After the equipment has been purchased, the equity recorded in the accounting equation as follow:
	

	A)
	$ 8, 500
	

	B)
	$ 1, 500
	

	C)
	$ 3, 500
	+

	D)
	$ 5, 000
	

	E)
	None
	

	50
	Which of the following is not a liability
	

	A)
	Accounts Payable
	

	B)
	Accounts Receivable
	+

	C)
	Salaries Payable
	

	D)
	Notes Payable
	

	E)
	All of the above
	

	51
	If during the accounting period the assets increased by $ 7, 000, and the equity decreased by $ 3, 000, then the liability must have
	

	A)
	Increased by $ 10, 000
	+

	B)
	Increased by $ 4, 000
	

	C)
	Decreased by $ 10, 000
	

	D)
	Decreased by $ 4, 000
	

	E)
	None
	

	52
	When the company pays the employees his monthly wage, the transaction will
	

	A)
	Increase an asset, increase a liability
	

	B)
	Decrease an asset, decrease a liability
	

	C)
	Increase an asset, increase owner’s equity
	

	D)
	Decrease an asset, decrease owner’s equity
	+

	E)
	All of the above
	

	53
	The net profit for a particular period of time is reported on the:
	

	A)
	Income statement
	+

	B)
	Balance Sheet
	

	C)
	Trial Balance
	

	D)
	Statement Of Changes In Equity
	

	E)
	All of the above
	

	54
	A trader provided the following information

Cost of sale $ 170, 000

Expenses $ 8, 000

Profit for the year $ 14, 000

What was the revenue?
	

	A)
	$ 148, 000
	

	B)
	$ 162, 000
	

	C)
	$ 184, 000
	

	D)
	$ 192, 000
	+

	E)
	None
	

	55
	A business entity makes a large loss on a business transaction. Which of the following item will always be reduce in value as a result of loss

1. Cash balance

2. Total assets

3. Capital

4. Total liability
	

	A)
	1, 2, 3
	

	B)
	1, 3
	

	C)
	2, 3
	+

	D)
	All of them
	

	E)
	None
	

	56
	Use the following information to answer the next five questions.

On December 31, assets, liability, revenues and expenses were:

Insurance Expenses $ 3, 000

Rent Expenses $ 2, 000

Salaries Expenses  $ 14, 500

Supplies Expenses $ 1, 500

Service Performed $ 35, 000

Accounts Payable $ 4, 000

Accounts Receivable $ 13, 000

Cash $ 5, 000

Equipment  $ 14, 000

Supplies on hand $ 500

Total assets are equal to:
	

	A)
	$ 5, 000
	

	B)
	$ 32, 500
	+

	C)
	$ 49, 500
	

	D)
	$ 19, 000
	

	E)
	None
	

	57
	On December 31, assets, liability, revenues and expenses were:

Insurance Expenses $ 3, 000

Rent Expenses $ 2, 000

Salaries Expenses  $ 14, 500

Supplies Expenses $ 1, 500

Service Performed $ 35, 000

Accounts Payable $ 4, 000

Accounts Receivable $ 13, 000

Cash $ 5, 000

Equipment  $ 14, 000

Supplies on hand $ 500

Net income is equal to
	

	A)
	$ 14, 000
	+

	B)
	$ 19, 000
	

	C)
	$ 27, 000
	

	D)
	$ 32, 000
	

	E)
	None
	

	58
	Webby Corporation reported the following amounts on its income statement: service revenues, $32,500; utilities expense, $300; net income, $1,600; and income tax expense, $900. If the only other amount reported on the income statement was for selling expenses, what amount would it be?
	

	A)
	$ 2,200
	

	B)
	$ 29,700
	+

	C)
	$ 30,000
	

	D)
	$ 30,900
	

	E)
	None
	

	59
	On December 31, assets, liability, revenues and expenses were:

Insurance Expenses $ 3, 000

Rent Expenses $ 2, 000

Salaries Expenses  $ 14, 500

Supplies Expenses $ 1, 500

Service Performed $ 35, 000

Accounts Payable $ 4, 000

Accounts Receivable $ 13, 000

Cash $ 5, 000

Equipment  $ 14, 000

Supplies on hand $ 500
On December 31, current assets equal


	

	A)
	$ 17, 500
	

	B)
	$ 23, 000
	

	C)
	$ 29, 500
	

	D)
	None of them
	+

	E)
	0
	

	60
	On December 31, assets, liability, revenues and expenses were:

Insurance Expenses $ 3, 000

Rent Expenses $ 2, 000

Salaries Expenses  $ 14, 500

Supplies Expenses $ 1, 500

Service Performed $ 35, 000

Accounts Payable $ 4, 000

Accounts Receivable $ 13, 000

Cash $ 5, 000

Equipment  $ 14, 000

Supplies on hand $ 500
On December 31, total liability
	

	A)
	$ 4, 000
	+

	B)
	$ 5, 000
	

	C)
	$ 13, 000
	

	D)
	None of them
	

	E)
	0
	

	61
	C Company shows a balance of $4,500 in the Supplies account. A physical count indicates $1,500 of supplies on hand at the end of the fiscal period. Journalize the required adjustment for supplies.
	

	A)
	dr Supplies Expense 3,000
     cr Supplies 3,000
	+

	B)
	dr Supplies Expense 1,500
    cr Supplies 1,500
	

	C)
	dr Supplies 1,500
    cr Supplies Expense 1,500
	

	D)
	dr Supplies 3,000
    cr Supplies Expense 3,000
	

	E)
	None
	

	62
	B Company paid $3,600 for a three-year insurance policy on January 1 of the current year. Prepare the required adjustment for the expired insurance at the end of the current year.
	

	A)
	dr Prepaid Insurance 2,400
cr Insurance Expense 2,400
	

	B)
	dr Prepaid Insurance 1,200
cr Insurance Expense 1,200
	

	C)
	dr Insurance Expense 2,400
cr Prepaid Insurance 2,400
	

	D)
	dr Insurance Expense 1,200
    cr Prepaid Insurance 1,200
	+

	E)
	None
	

	63
	X Company received $16,000 on January 1 of the current year for a project to be completed over the next two years. Journalize the adjustment to recognize the income earned on this project at the end of the current year.
	

	A)
	dr Unearned Revenue 16,000
    cr Revenue 16,000
	

	B)
	 dr Unearned Revenue 8,000
    cr Revenue 8,000
	+

	C)
	 dr Revenue 8,000
    cr Unearned Revenue 8,000
	

	D)
	 dr Revenue 16,000
    cr Unearned Revenue 16,000
	

	E)
	None
	

	64
	L Company has performed $12,000 of services that have not been billed as of fiscal year-end. Prepare the adjusting entry to record the fees earned.
	

	A)
	dr Accounts Receivable 0
    cr Revenue 0
	

	B)
	dr Revenue 12,000
    cr Accounts Receivable 12,000
	

	C)
	dr Accounts Receivable 12,000
    cr Revenue 12,000
	+

	D)
	dr Revenue 0
    cr Accounts Receivable 0
	

	E)
	None
	

	65
	An accrual is:
	

	A)
	an expense relating to next year but not paid in current year.
	

	B)
	an expense relating to the current year but not paid in current year.
	+

	C)
	an expense relating to the current year and paid within current year.
	

	D)
	an expense relating to next year and already paid in current year.
	

	E)
	All of the above
	

	66
	The need to provide for accruals and prepayments in the double entry system arises from the:
	

	A)
	prudence concept.
	

	B)
	 going concern concept.
	

	C)
	duality concept.
	+

	D)
	matching concept
	

	E)
	All of the above
	

	67
	Which of the following is not true?
	

	A)
	An accrual is a current liability; a prepayment is a current asset
	

	B)
	An accrual is an amount owing at the end of a period; a prepayment is an amount paid in advance.
	

	C)
	An accrual is a liability; a prepayment is a non-current asset.
	+

	D)
	An accrual is a liability; a prepayment is an asset.
	

	E)
	All of the above
	

	68
	Which of the following is not true?

1. An accrual is a current liability; a prepayment is a current asset.
2. An accrual is an amount owing at the end of a period; a prepayment is an amount paid in advance.
3. An accrual is a liability; a prepayment is a non-current asset.
4. An accrual is a liability; a prepayment is an asset.
	

	A)
	1, 3
	

	B)
	1, 2, 4
	

	C)
	2, 3, 4
	

	D)
	1, 2, 4
	+

	E)
	None
	

	69
	The supplies account has a balance of $2,200 at the beginning of the year and was debited during the year for $4,700, representing the total of supplies purchased during the year. If $1,300 of supplies are on hand at the end of the year, the supplies expense to be reported on the income statement for the year is 
	

	A)
	6,900 
	

	B)
	5,600
	+

	C)
	3,400 
	

	D)
	900
	

	E)
	None
	

	70
	Using accrual accounting, revenue is recorded and reported only 
	

	A)
	if cash is received after the services are rendered 
	

	B)
	when cash is received without regard to when the services are rendered 
	

	C)
	when cash is received at the time services are rendered 
	

	D)
	when the services are rendered without regard to when cash is receive
	+

	E)
	All of the above
	

	71
	When is the adjusted trial balance prepared? 
	

	A)
	Before adjusting journal entries are posted 
	

	B)
	Before the adjusting journal entries are journalized
	

	C)
	After the adjusting journal entries are journalized 
	

	D)
	After adjusting journal entries are posted. 
	+

	E)
	All of the above
	

	72
	Which of the following is an example of a prepaid expense? 
	

	A)
	Unearned Fees 
	

	B)
	Unearned Subscriptions 
	

	C)
	Supplies
	+

	D)
	Accounts Receivable
	

	E)
	All of the above
	

	73
	The general term employed to indicate a delay of the recognition of an expense already paid or of a revenue already received is:
	

	A)
	Accrual
	

	B)
	Inventory
	

	C)
	depreciation
	+

	D)
	deferral
	

	E)
	All of the above
	

	74
	Accrued expenses are ordinarily reported on the balance sheet as:
	

	A)
	prepaid expenses 
	

	B)
	liabilities
	+

	C)
	assets
	

	D)
	Fixed assets
	

	E)
	All of the above
	

	75
	Prepaid expenses are eventually expected to  
	

	A)
	become revenues when the liability is no longer owed. 
	

	B)
	become revenues when services are performed. 
	

	C)
	become expenses in the period when they are paid.
	

	D)
	become expenses when their future economic value expires. 
	+

	E)
	All of the above
	

	76
	The adjusting entry to record the depreciation of equipment for the fiscal period is: 
	

	A)
	debit Depreciation Expense; credit Accumulated Depreciation 
	+

	B)
	 debit Depreciation Expense; credit Equipment 
	

	C)
	debit Accumulated Depreciation; credit Depreciation Expense 
	

	D)
	debit Equipment; credit Depreciation Expense 
	

	E)
	All of the above
	

	77
	The following adjusting journal entry was found on page 4 of the journal. Select the best explanation for the entry. 
Wages Expense 2,150 
Wages Payable 2,150 

	

	A)
	Record the payment of wages 
	

	B)
	Record wages expense incurred and to be paid next month 
	+

	C)
	Record wages paid in advance 
	

	D)
	Record wages to be paid this month
	

	E)
	All of the above
	

	78
	Which of  the following business transactions is an accrued expense?
	

	A)
	Paid for one year’s insurance policy.
	

	B)
	Annual property taxes that are paid at the end of the year 
	

	C)
	Electric bill to be paid next month 
	+

	D)
	Received payment for a magazine subscription for the next 6 months 
	

	E)
	All of the above
	

	79
	Which of  the following business transactions is an accrued revenue?
	

	A)
	Paid for a magazine subscription for the next 6 months 
	

	B)
	Received payment for a magazine subscription for the next 6 months
	

	C)
	Services provided by an attorney that have not been recorded 
	+

	D)
	Paid for one year’s insurance policy 
	

	E)
	All of the above
	

	80
	Which of  the following business transactions is an unearned revenue?
	

	A)
	Retainage received by the client for future legal representation. 
	+

	B)
	Annual property taxes that are paid at the end of the year 
	

	C)
	Paid for a magazine subscription for the next 6 months 
	

	D)
	Provided tutoring for a student, invoice to be sent at the beginning of the next month to the parent for payment.
	

	E)
	All of the above
	

	81
	Which of  the following business transactions is an prepaid expenses?
	

	A)
	Services provided by an attorney that have not been recorded. 
	

	B)
	Paid for one year’s insurance policy 
	+

	C)
	Electric bill to be paid next month 
	

	D)
	Annual property taxes that are paid at the end of the year 
	

	E)
	All of the above
	

	82
	Which of the following is not true?

1. Revenues and expenses should be recorded in the same period in which they relate. 
2. A company pays $6,500 for two season tickets on September 1. If $2,500 is earned by December 31, the adjusting entry made at that time is debit Cash, $2,500 and credit Ticket Revenue, $2,500. 
3. The Accumulated Depreciation's account balance is the sum of depreciation expense recorded in past periods. 
4. Accumulated Depreciation is reported on the income sheet. 


	

	A)
	1,2
	

	B)
	2,3,4
	

	C)
	1.2.4
	

	D)
	2.4
	+

	E)
	All of the above
	

	83
	Which of the following is true?

1. Revenues and expenses should be recorded in the same period in which they relate. 
2. A company pays $6,500 for two season tickets on September 1. If $2,500 is earned by December 31, the adjusting entry made at that time is debit Cash, $2,500 and credit Ticket Revenue, $2,500. 
3. The Accumulated Depreciation's account balance is the sum of depreciation expense recorded in past periods. 
4. Accumulated Depreciation is reported on the income sheet. 


	

	A)
	1,2
	

	B)
	2,4
	+

	C)
	2,3
	

	D)
	1,2,4
	

	E)
	All of the above
	

	84
	ABC Co. leased a portion of its store to another company for eight months beginning on October 1, 2004. This other company paid the entire rent of $6,400 cash on October 1, which ABC Co. recorded as unearned revenue. The journal entry made by ABC Co. at year- end on December 31, 2004 would include:
	

	A)
	A debit to Rent Earned for $2,400.
	

	B)
	A credit to Unearned Rent for $2,400
	

	C)
	A debit to Cash for $6,400.
	

	D)
	A credit to Rent Earned for $2,400.
	+

	E)
	All of the above
	

	85
	Prior to recording adjusting entries, the Office Supplies account had a $359 normal balance. A physical count of the supplies showed $105 of unused supplies. The required adjusting entry is:
	

	A)
	Debit Office Supplies $105 and credit Office Supplies Expense $105.
	

	B)
	Debit Office Supplies Expense $105 and credit Office Supplies $105
	

	C)
	Debit Office Supplies Expense $254 and credit Office Supplies $254.
	+

	D)
	Debit Office Supplies $254 and credit Office Supplies Expense $254
	

	E)
	All of the above
	

	86
	On April 30, 2004, a three-year insurance policy was purchased for $18,000 cash with coverage to begin immediately. What is the amount of Prepaid Insurance that would appear on the company's financial statements for the year ended December 31, 2004?
	

	A)
	$ 500.
	

	B)
	$ 4,000
	

	C)
	$14,000
	+

	D)
	$ 6,000.
	

	E)
	None
	

	87
	A company pays its two employees every Friday $500 each for a five-day workweek that begins on Monday. If the monthly accounting period ends on Tuesday and the employees worked on both Monday and Tuesday, the month-end adjusting entry is:
	

	A)
	Debit Unpaid Salaries $600 and credit Salaries Payable $600.
	

	B)
	Debit Salaries Expense $400 and credit Salaries Payable $400.
	+

	C)
	Debit Salaries Expense $400 and credit Cash $400.
	

	D)
	Debit Salaries Expense $600 and credit Salaries Payable $600.
	

	E)
	All of the above
	

	88
	Each of the following is a major type (or category) of adjusting entry except:
	

	A)
	prepaid expenses.
	

	B)
	earned expenses.
	+

	C)
	accrued revenues.
	

	D)
	accrued expenses.
	

	E)
	All of the above
	

	89
	Adjustments for unearned revenues:
	

	A)
	decrease revenues and decrease assets
	

	B)
	increase liabilities and increase revenues.
	

	C)
	increase assets and increase revenues.
	

	D)
	decrease liabilities and increase revenues.
	+

	E)
	All of the above
	

	90
	Adjustments for accrued revenues:
	

	A)
	increase assets and increase liabilities.
	

	B)
	increase assets and increase revenues.
	+

	C)
	decrease assets and decrease revenues.
	

	D)
	decrease liabilities and increase revenues
	

	E)
	All of the above
	

	91
	Emily Keshen earned a salary of $400 for the last week of September. She will be paid on October 1. The adjusting entry for Emily’s employer at September 30 is:
	

	A)
	No entry is required.
	

	B)
	dr Salaries Expense 400
    cr Cash 400
	

	C)
	dr Salaries Expense 400
    cr Salaries Payable 400
	+

	D)
	dr Salaries Payable 400
    cr Cash 400
	

	E)
	All of the above
	

	92
	Which one of these statements about the accrual basis of accounting is false?
	

	A)
	 Events that change a company’s financial statements are recorded in the periods in which the events occur.
	

	B)
	Revenue is recognized in the period in which it is earned.
	

	C)
	Revenue is recorded only when cash is received, and expense is recorded only when cash is paid.
	+

	D)
	This basis is in accord with generally accepted accounting principles.
	

	E)
	All of the above
	

	93
	Accumulated depreciation is a:
	

	A)
	contra revenue account.
	

	B)
	contra asset account.
	+

	C)
	unearned revenue account.
	

	D)
	expense account.
	

	E)
	All of the above
	

	94
	Horace Goodrunning, trading as Goodrunning Motor Spares, ends his financial year on 28 February each year. His telephone was installed on 1 April 20X6 and he receives his telephone account quarterly at the end of each quarter. On the basis of the following data, you are required to calculate the telephone expense to be charged to the income statement for the year ended 28 February 20X7.

Goodrunning Motor Spares – telephone expense for the three months ended:

                                $

30.6.20X6             20,50

30.9.20X6             25,00

31.12.20X6           33,80

31.3.20X7             36,00


	

	A)
	115,30
	

	B)
	79,30
	

	C)
	103,30
	+

	D)
	36,00
	

	E)
	None
	

	95
	CDA Company started in business on 1 January Year 1, making up accounts to 31 December Year 1. Electricity bills received were as follows.

                              Year 1                   Year 2 

                                 $                             $ 

31 January               –                          6,300 

30 April                 5,800                       5,400

31 July                  4,400                      4,700 

31 October           4,100                       4,500

What should the electricity charge be for the year ended 31 December Year 1?


	

	A)
	20,600
	

	B)
	32,500
	

	C)
	18,500
	+

	D)
	20,900
	

	E)
	None
	

	96
	CDA Company started in business on 1 January Year 1, making up accounts to 31 December Year 2. Electricity bills received were as follows.

                              Year 1                   Year 2                   Year 3

                                 $                             $                           $ 

31 January               –                          6,300                    6,600

30 April                 5,800                       5,400                    6,800

31 July                  4,400                      4,700                     5,500

31 October           4,100                       4,500                     6,200

What should the electricity charge be for the year ended 31 December Year 1?


	

	A)
	18,500
	

	B)
	18,900
	+

	C)
	27,500
	

	D)
	20,900
	

	E)
	None
	

	97
	A business opens on 1 January. The rent is $16,000 per year and is payable quarterly in advance. Payments were made on what are known as the 'quarter-days' (except the first payment) as follows.

1 January  4,000

25 March  4,000

24 June  4,000

29 September  4,000

25 December 4,000

What will the rental charge be for the year ended 31 December?
	

	A)
	4,000
	+

	B)
	8,000
	

	C)
	16,000
	

	D)
	20,000
	

	E)
	None
	

	98
	A business opens on 1 January. The rent is $16,000 per year and is payable quarterly in advance. Payments were made on what are known as the 'quarter-days' (except the first payment) as follows.

1 January  4,000

25 March  4,000

24 June  4,000

29 September  4,000

25 December 4,000

The double entry for this prepayment for the year ended 31 December:


	

	A)
	dr Prepayment 4,000
    cr Rent Account 4,000
	+

	B)
	dr Prepayment 20,000
    cr Rent Account 20,000
	

	C)
	 dr Rent Account 16,000
    cr Prepayment 16,000
	

	D)
	dr Rent Account 20,000
    cr Prepayment 20,000
	

	E)
	None
	

	99
	Electricity paid during the year is $13,000. There was an opening accrual b/f of $200. A bill for the quarter ended 31 January 20X7 was $600. What is the electricity charge in the income statement for the year ended 31 December 20X6?
	

	A)
	13,000
	

	B)
	13,800
	

	C)
	13,100
	+

	D)
	12,200
	

	E)
	None
	

	100
	If a business has paid the annual rent of $6,000 till 31 March 20X9, what is the prepayment balance as of 31 December 20X8?
	

	A)
	 1,500
	+

	B)
	4,500
	

	C)
	6,000
	

	D)
	3,000
	

	E)
	All of the above
	


4

